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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)3125 (B)5625 (C)2515 (D)3025 (E)None of these

What value should come in the place of question mark(?)in the following questions?

( 625 × 625 ) ÷ 125  =  ?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

0.88888 + 0.8888+ 0.888+0.88+0.8 = ?

(A)2.34568 (B)4.34568 (C)4.43568 (D)4.43658 (E)None of these
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What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)31574 (B)31474 (C )20034 (D)31674 (E)None of these

What value should come in the place of question mark(?)in the following questions?

107 ×107 + 105 × 105 + 40 × 70 = ? − 6400
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 681.24 (B)720.90 (C)678.20 (D)672.50 (E)None of these

What value should come in the place of question mark(?)in the following questions?

892.42 + 204.82 − 379.36   = ? − 3 
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What value should come in the place of question mark(?)in the following questions?

450% of 8400 = ? % of 600

(A)6150 (B)6250 (C)6300 (D)6450 (E)6425

E04613E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(a)in the following questions?

(3)² × (27)³÷ (9)¹ = 3ª

(A)9 (B)8 (C)7 (D)6 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

3256 ÷ 37  = 8 × ?

(A) 11 (B) 13 (C) 15 (D)17 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

13³ + 12² = 18³ − 29² + ?

(A)-2640 (B)-2680 (C)-2650 (D)-2690 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

380 × 178 ÷ 19 − 82 = ? + 568

(A)2190 (B)2880 (C)2910 (D)2770 (E)2990
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What value should come in the place of question mark(?)in the following questions?

416 ÷ 16 ÷ ?= 13

(A)4 (B)2 (C)5 (D)3 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

12 , 17 , ? , 42 , 62 , 87

(A)25 (B)29 (C)36 (D)32 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

16 , 8 , 12 , ? , 105 , 472.5

(A)35 (B)40 (C)30 (D)45 (E) None of these
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What should come at place of the question mark (?) in the following number series ?

121 , 100 ,  ? , 64 , 49 , 36

(A)81 (B)98 (C)75 (D)84 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

1 , 7 , 42 , 210 , ?  , 2520

(A)240 (B)750 (C)760 (D)810 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

4 , 2 , 6 ,? , 12 , 6

(A)5 (B)7 (C)3 (D)4 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)150 (B) 210 (C)240 (D)180 (E)None of these

The ratio between three numbers is 7:5:9 respectively and their average is 21. What is the 
greatest number ? 
तीन संख्याओं का अनुपात क्रमशः 7:5:9 है और उनका औसत 210 है। सबसे बडी संख्या क्या है?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)5040 (B)6080 (C)2520 (D)720 (E)None of these

In how many different ways can the letters of the word ‘ OPERATE’ be arranged ?
शब्द ‘OPERATE' के अक्षर ं क ककतने अलग-अलग तरीक ं से व्यवस्थित ककया जा सकता है?

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)19:4 (B)4:5 (C)17:3 (D)3:17 (E)None of these

Anju and Raghu started a business investing Rs. 95000 and Rs. 20000 respectively. In what 
ratio the profit is divided between Anju and Raghu after 2 years ? 
अंजू और रघु ने 95000 और रु क्रमशः 20000 रुपये का कनवेश करके एक व्यवसाय शुरू ककया। ।
2 वर्ष बाद अंजू और रघु के बीच लाभ क ककस अनुपात में कवभाकजत ककया जाता है?
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A)12years (B)14 years (C)18years (D)16 years (E)None of these

A person is 22 years older than his son. After 2 years his age will be twice his son. 
What is son’s present age ?
एक व्यस्ि अपने पुत्र से 22 वर्ष बडा है। 2 वर्ष बाद उसकी आयु उसके पुत्र की द गुनी ह गी। पुत्र
की वतषमान आयु क्या है?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)300 (B)500 (C)800 (D)1000 (E)None of these

A student is required to get 43% marks to pass the examination. He got 140 marks and 
failed by 75 marks. What is the maximum marks in examination ?
एक छात्र क परीक्षा पास करने के कलए 43 फीसदी अंक लाने जरूरी हैं। उसे 140 अंक कमले और
वह 75 अंक ं से फेल ह गया। परीक्षा में अकिकतम अंक क्या हैं?
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(A)Rs.7000 (B)Rs.8000 (C)Rs. 7800 (D)Rs.7500 (E) Rs. 8500

The ratio between the price of a scooter and a T.V . is 9: 5 respectively. If the price of the 
scooter is Rs .6000 more than the price of the T.V. what is the price of the T.V.?
एक सू्कटर और एक टी.वी. की कीमत के बीच का अनुपात। क्रमशः 9:5 है। यकद सू्कटर की
कीमत टीवी की कीमत से 6000 रुपये अकिक है, त टीवी की कीमत क्या है?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

The profit earned by selling an article for Rs. 1516 is equal to the loss incurred by selling the 
same article for Rs. 1112. what is the cost price of the article ?
एक वसु्त क रु.1516 में बेचकर अकजषत लाभ। उसी वसु्त क 1112 रुपये में बेचने पर हुए नुकसान
के बराबर है। वसु्त का क्रय मूल्य क्या है ? 

E04613

(A)1314 (B)1343 (C)1414 (D)1434 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)60 years (B)64years (C)62years (D)68years (E)None of these

In a group the average age of 46 student is 14 years . If teacher’s age is included, the 
average age is increased by 1. what is the teacher’s age ?
एक समूह में 46 छात्र ं की औसत आयु 14 वर्ष है। यकद कशक्षक की आयु शाकमल कर ली जाए, त 
औसत आयु में 1 की वृस्ि ह जाती है। कशक्षक की आयु क्या है?
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Direction (31–35): In each question two equations numbered (I) and (II) are given. You 
have to solve both the equations and mark appropriate answer.

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y
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Q.31 :- I. x = √1764                              II.  y2 = 17646

Q.32 :- I. x2 − 6x +5 = 0 II. y2 − 7y+ 12=0

Q.33 :- I. 2x2 −5x− 12 = 0 II. 2y2 +19y+44 =0

Q.34 :- I. x2 −28x +196= 0 II. y2 −26𝑦+169 = 0

Q.35 :- I. x2 −5x +6 =0 II. 2y2 −15y +27 = 0
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Directions (Q. 26-30): Read the following information carefully to answer the questions 

asked –

Distribution of professor on their education in different universities 
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(A)11.11% (B)22.22% (C)33.33% (D)44.44% (E)None of these

Q.26 :- The  post graduate professor in university A is what % of overall professor in that 
university?  
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(A) 3:4 (B)4:3 (C)6:5 (D)5:6 (E)None of these

Q.27 :- What is ratio of number of Ph.D. in university A,C and E and  graduate professor 
from university B, C and E?  
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(A)150 (B)170 (C)180 (D)160 (E)None of these

Q.28 :- What is average of graduate professor in all the university together ?

100 100

150

250 250

150

200

350

450

350

150

350

200

250

150

0

50

100

150

200

250

300

350

400

450

500

A B C D E

Graduate post graduate Ph.d

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A) 50 (B)80 (C)60 (D)70 (E)None of these

Q.29 :- What is the difference between the average of Post Graduate and Ph.D. professor in 
all the university together ?
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(A) 30% (B)32% (C) 35% (D) 36% (E)None of these

Q.30 :- If the number of graduate in all the university is increased by 20 % then by what % 
they will be more or less then the Post Graduate from all the universities?
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